[y

STATE OF CALIFORNIA Job Stamp Const. Calendar: 113
ODEPARTMENT OF TRANSPORTATION 04-0120F4 Project Work Day No.: 1323
Farm HC-10A (Rev. 6/80) SFOBB SAS Date 12/30/2009
Inspectors Start 7:00 Stop 3:30
Hours AM PM
Shift Hours 06:30 15:30
ASSISTANT RESIDENT ENGINEER'S CONTRACTOR - ABFJV, Sub SDI
HOURS - ITEM NO.
Q
o
=
EQUIPMENT AND/OR LABOR: g a -
c
5] o
DESCRIPTION sl = % REMARKS
Exuip. N [ (Of Equipment or Labor) 2| e (a}
# e} =i (14
L] 5]
M g 2 o
1} ~—
E [} 7] L
N ~ g i |
2 3 (=] Name Contractor
1 1 | Pile Driver 8 Danny Schwartz ABF Pier 7
2 1 | Laborer 8 Rigiberto Campos | ABF Pier 7
3 1 | Elevator Operator 8 Howard Schroyer | ABF
4 1 | Crane Operator 8 Jeff Scott ABF
5 1 | Oiler/Apprentice 8 Ross Scott ABF Pier 7
6 Sub-contractors SDI See Matt's diary SDI
7 Sub-contractor Rebar None Regional Steel
1 | Crane LR 1300 8 ABF no operator
Lincoln Welding Machine
! | 768-50-4005 ABF
Lincoln Welding Machine
1 | 768-50-4009 ABF
1 | MQ Power Generator 220 8 ABF
1 Ingersoll Rand Air 8 ABF used by
Compressor others
1 | Fork Lift ABF
1 | Pick up ABF
1 | Elevator 8

Weather: Sunny with cool temperatures — Hi 55°F Low 42, cold, windy. Foggy in the morning.

RECTHIZ JAN-Z21 011834

123009
Page 1 of 2



Description of Work by ABF and its Sub-contractors.

ABF
o All'work is for the Temporary Towers and preparation for OBG.
o ABF assisted SDI load its equipment on the truck
o Grane operator Jeff Scott came to assist loading the SDI equipment on the truck to be taken away.
o Howard is working on elevator & Ross is assisting with crane and other equipment.
o Ohers are assisting with miscellaneous tasks at Pier 7.
SDI

» 3Dl has a crew of 7 people on the job site.

o SDI had installed all grease caps and greased all remaining grease caps on top of W2 on Monday
12/28/09.

o SDI is working on to install the bottorn grease cap assemblies.
o SDI continues inject grease in the bottom caps on W-Line.

Additional Work at or outside of W2 site:

CC Myers have dismantled about 85% of the existing side lined bridge.

Reorganize and clean up at office to sort out W2 paper work.

Revise the OBG and Crossbeam installation checklist few times.

Organize the work for OBG.

Finalized the checklist for OBG installation. This list gives work to be done for Seismic Stops installation and

checking and the installation of Shear Plates at the Pier as well as at the job site. The list will be updated after
discussions with others and availability of more information.

Gil is off this week.

David assisted watching SDI work in the foundation well for bottom grease caps.
Matt is on vacation.

XK -t o

Inspector: Lalit Mathur, P.E.

Transportation Engineer (D)

123009
Page 2 of 2



"l:-"tf SL‘J‘# Syx ole < - -
f A“Qr:_-e 1’-\16-—-‘-—1, Can ‘C:ﬁ ¢

OBG and Cross Beam Installation Check List

SEISMIC DESIGN CRITERIA ACCEPTANCE FOR BOX GIRDER LIFTS

LIFT 1E

Seismic Stops- Total 4
Check at the Site

© NEinstalled and shimmed ABF Date  CT Date
© SEinstalled and shimmed ARBF Date  CT Date
o NW installed and shimmed ABF Date  CT Date
© SW installed and shimmed ARBF Date  CT Date

° All shear plate on the subject box girder lift and all the preceding box girder
lifts to the west of the subject box girder lift shall be installed and fully bolted
or welded to the box girder or cradle as required by the cradle drawings:
Shear Plates- Total 4
Shear Plate Installation at Pier 7 - Bolt 2 Plates to bottom of OBG, Snug tight
© SE Plate- Bolt Dia 1 1/8, No 16 ABF___ Date_ CT _ Date
o SW Plate- Bolt Dia 1 1/8, No 16 ABF__ Date CT___ Date
Shear Plate Installation at Site - Bolt 2 Plates to top of Cradle at Centering Pin
o SE Plate- Bolt Dia 1 1/8, No 14 ABF __ Date CT___ Date
o SW Plate- Bolt Dia 1 1/8, No 14 ABF___ Date CT__ Date
Shear Plate Installation at Site - Bolt 2 Plates to bottom of OBG, Snug tight
© NE Plate- Bolt Dia 1 1/8, No 16 ABF__ Date CT___ Date
© NW Plate- Bolt Dia 1 1/8, No 16 ABF Date_  CT___ Date
Shear Plate Installation at Site - Bolt 2 Plates to top of Cradle
o NE Plate- Bolt Dia 1 1/8, No 14 ABF Date CT Date
© NW Plate- Bolt Dia 1 1/8, No 14 ABF___ Date CT__ Date

e The box girder bolted splices have been completed as follows:

o For the initial connection of the box girder splice, the minimum number of
bolts and/or pins shall be installed in the locations shown on drawing
number DE231A. For this condition, bolts need only be installed snug
tight. Bolted connections are not required for Lifts 1E and [ W,

Splice Plate Installation (snug tight)

Splice Plate-1 Bolt Dia_ ,No__ ABF Date  CT Date

Splice Plate-2 Bolt Dia__,No — ABF  Date o T Date_

Splice Plate-3 Bolt Dia__ ,No ABF Date CT Date

Splice Plate-4 Bolt Dia__ ,No — _ABF _Date CT Date

Bolt Testing ABF Date  CT Date

Others as required

After the next box girder [ift is placed in a position that will alter the dead

load moment in the bolted splice, the minimum number of bolts Specified

O0o0oo0o0o0oO



T_ 0BG PAHEL POINT ? BO PANEL POINT
& FLODR BEAMS & FLOOR BEA,
| ' 1
1 500 ] 500 ) 500 l 500
100, 350 I 350 ,100, loo, 50 | 350 100,
. [ . ol [ . [
; o 11 [ o [ l [
| W i q ! | 1 m 1 t ] |
| = | R el ! P
& (. (. (16 — 32¢ HOLES FOR =) b L1 "18 - 326 HOLES FOR
g
"E" LINE _ e pd e e & Us"e BOLTS, SNUG TIGHT A & 15" BOLTS, SNUG TIGHT A
! B I ! ¢ A G = it ! - Py
| : | : |
3 X “‘
i Jd 1 > !
P [ ; [ R i N ) -
é_ ) I i & g ) l 1 A
i = SRR e T -—-..-(};— -(%:- -&) -£{:—— - — i ———(%)— -(!)- —4)- & s
. . - oy iy SIS k. . ' = .E e : e _‘"_‘®
I . s
Ax | A |
1 |
t 1 N
l \-1' 5l A l A 5 A
] I A d 1
g _ " - ————q— & OBEMING FOR
& ) do & & " CENTERWG iy
gle i Bl s
mle 4 | @- G o Rc:s o 't‘b/ -
W) w =
e | = L e = B
n S . !\—w.r@' ol o gg_ﬁ R |E< @ 2
gl &~ @ - & 8 75 Re:8 &
~ N.G meemnm o] iy __'_—_EP' Cl
"E" LINE — LIFT 1 CRADLE A “
OBG SHEAR PLATE DIMENSIONS A ; | \ A | ) \\
HEAR PLATE SHEAR PLATE H s i ! ! 14 - 350 x 50 1 1m| 1} ! 14 — 358 x 50
iy TYFE {mm) {mm}) {mm) SLOTIED HOLES SLOTIED HOLES
uw 1 1350 636 20 _165 | 165 FOR 14" BOLTS 185 | 165 FoR 10 BOLTS
1 1352 §30 20 310 | smo | A 310 l.__310
:rEr 2 1505 064 30 A l i
= ) 1562 070 0
A PLAN — OBG SHEAR PLATE TYPE 1 PLAN — 0BG SHEAR PLATE TYPE 2
SCALE 1:10 SCALE 1:10
@APEEDVED T
Q :
[} APPROVED AS NOTED NOTES:
[ RETURHED FOR CORRLCTION 1. FOR GENERAL NDTES SEC DRAWING 100-~02.
T+Y+LIN INTERNATIONAL ARD MOFFATT & NICHOL, a JV 2. FOR ADDITIONAL CRADLE NOTES SEE DRAWING 703-01.
THE EAST SPAN BRIDGE DESIGN TEAM 3. SHEAR PLATES SHALL BE PAINTED AS PLR KOTE 3.14 ON
APPROYAL PURSUAMT TO SECTION 5.1.02 CF THE DRAWING 100--02,
5 STANDARD SPECIFICATIONS OF THE STATE OF CALIFORNIA
' DEPARTHENT GF TRANSPORTATION, OF A SPECIFIC ITEM, 4. 0BG SHALL HAYE BOLY HOLES 10 MATCH 0BG SHEAR PLATE.
) PPEROV, ANTTO S -
S O e R e et s tae ,T' 5. (E3) OENDTES OBG REFERENCE LINES. SEE OBG DRAWINGS,
_ Soc T o‘_-‘j
5 D T
= -
A (4] 1:10 0.5m
St
s DESIGH by PROJECT
MOVED up. | BE | B | BH. i L - SAN FRANCISCO OAKLAND BAY BRIDGE
5 SEPT, 24708 | DETAL 1 RE e e == . WRMLBY ey id /FLUOH EAST SPAN SEISMIC SAFETY PROJECT
s | SEPT. 5/0B |DEINL 1 ADDED — - = B T T —— Bridge % =
HSTRUCTION — REVISED AS HOTED RG. | BC | BH. L}, AT
3| auG 18/00  |ISSUED FOR CO re. | 8c | BR | BA. = JUNE 2000 e SELF—~ANCHORED SUSPENSION BRIDGE
2 | JUNE 24/0D | REWISTD AS NOTEO ) 6. c a.“ > — == "E%LINE — LIFT 1 CRADLE
6. | 8c R 3.
1| JUNE 17/00  |ISSUED FOR DETALNG — GENERAL REWSION R L SR - SHEET 8
- D.D. L4, i
o | FEB. 1/0B |A - D CRADLES - 100% SUBMITAL P T (.\)m_(—g‘uup RS 1357136 T Klohn Cﬁppen BEﬂQGﬁ' - —
7 — [ CRADLES — 70% SUBMITAL ViM, .FL.H, 4. ... . + £ i o, . Mo, ALV,
Bl weam . P =i e | eres | oo | e | PECISTERED ENGINEER — CML—[&omwst 15— 04 _0120F4 P01506A03 703-08
1o, [ CRUELL PRIIS DEARWD PREVOUS 1

MCRO-Lr



€ TRUSS CHDRD BEMI Bl & PN

€ TRUSS £HORD, BEAM BT & PNt

TRUSS CHURD BEAM BY & PIN

14
[ : %%ISE "m”“.‘ | ; INTERMEDIATE
- : A SMWF}BERS e Iz ; En\f;:;zums
S | 3 ; i i ;
P { € B3 & &3 i \_ l . P
—— } 1 . . o CORTHOTROPIC BOX e,
GROER : 95 B 8, E Dt J‘ GIROER QRIMOTROPIC 80X ; S
TR TR T05. BEAM B, B2k E IE R U W ; 1008 CENTERING PI / = i T.0S. BEAM BI,
F;Ehz(t—:_n == razam } ‘ 1 [_aza 83
—_— : ¥ —_— . : . = BEAM B1 z ==
g BEAM B2 EANE 8 2 BEAM B2
5 "
i =§gﬂ " _— v//_ "\\1 ‘ ERD x 2 " —_ 1‘//_
STEFES BEAM B3 E/F (m’
E/F rm»‘.}\ e ™~ | L /[' S /..Bs.w 81 \ 185, 800 ~ i
REMOVEASLE I . 4 g . I
SUDING FAD BY i i <GP (P e (ma.)> < /_E'z}-’ &,iof Shbresien smﬁ«vﬁm ar -<C-"- ()
OTHERS TYP ] E/ THERS TYP. =
\ 8 u/s EEAM 81, Y Skﬂfg“ e, 8l [ u/s BEAM B1,
PEDESTAL SEE ™ b & ‘ \ PEOESTAL SEE ESTAL S ) & b3
WG, 703-13 & 14 . A, (. S A WG, TO5-15 & 14 chr :m}-l;s & / ’_
—] e
|20 x 400 8 g k20 x 400 TN | R jo g
; e el — 7 g e gy
. S—es 55/ //' = ™~es
STFFENER R20 » 160 STIFFENER _// N STIFFENER R20 x 190
R20 x 190
L) [
‘ TRUSS BEAM | TRUSS BEAM iz = oL TRUSS BEAM
ﬁeuovzmtzj = = e - i SHONG PAD By b ;
SUDING PAD BY "] : 3 + y :
OTHERS TYF. . - T | i SIS : T
a mm‘% 100 | ML G, TENSION CP. TENSION)—— l :
/ DETAL T e s s "1 0
—- 120 DETAIL 80
SCALE 1:20
% TRUSS CHORD, BEA BI & PIN Tmuss" CHORD, EEAN B1 & FIN iL
INTERMEDIATE :
INTERUEDIATE [NIERUEDAT N SCALE 1:20
1 ) ™ \ ‘
ORTHOTROPIC Bax'—/ t ‘ - \—g’nr‘;fgmmc BOX
GROER Lo . r '7\_ "
it P T.05. BEAM B BEME B —y e e =~ 1009 CENTERING PIN
BEAM BI g T — I_ i
v |
I e ) BB\::?‘"'F’} N
gg fw%?)n STIFFEN N - _/—azm g7 _\-\.,. coo |lses /—aw B
REMOVEABLE % 5 —= P ) K APEROVED
SUDING PAD BY : ~ AT S0 Ko STEReR [] APPROVED AS HOTED
OTHERS TYP, \ - [] RETURNED FOR CORRECTION
M- U/S BEAM B1 BEAN B PEGESTAL SEE T-¥ LI (NTERNATIONA! AND MOFFAT i 8 NICHOL, a Jv
PEOESTAL SEE l— ] N DHG. 703-13 & 14 THE EASY SPAN HRIDGE DESIGK TEAM
: E AI'PROVAL PURSUANKT it SECTION 5. 3 F g
. B20 x 40p—"] !.’.15-\ STANDARD sr':.cll;h.H‘lmL W BTATE cc?r.fwnr:ynﬁ\
/—lfgo ¥ 400 g 8 (TvP.) | EAE i -'J«im'nu OF # SPECIFC ITEM,
m} -3 _B_K il PPROVAL PURSUANT TO SECTION
- /H SFHBLY UF WHICK THE ITEM i5 A COMP gq[gn
g o5 ﬂﬁ/& : T BIE
[ — STIFFEN a0 STIFFENER e s
ER e'an 1 Fao x 190"’4 ! N-QE.S;.
o -
HEMOVERBLE | 1 TRUSS BEAM TRUSS _BEAN V___ 1. FOR GENERAL NOTES SEE DRAWING 100-02.
SUDING PAD BY EERL ] T
OTHERS TYP. e 4 T
[ sl o0 o 200 G.P. TENSION
C.P. TENEIDNv>_"\—//; 800 \\'I'ELD l
| BEFL | Tuss NOT FOR CONSTRUCTION] ¢ 12 1n
TRUSS SCALE 1:20 I =
SO DESIGH b CPH, CUEHT
SAN FRANCISCO DAKLAND BAY B
DAL DTy, American RIDGE
DETAL , (hB)
DETALL % = Bridge F.'LUOR » EAST SPAN SEISMIC SAFETY PROJECT
(014 - & Jaanr lulwu
] HOVEMBER 2007 SELF—ANCHORED SUSPENSION BRIDGE
o A5 HOTED . 1, CRADLE FRAME — DETAILS
‘ H, - TG W 34-p00BL/R | £ SHEET 4
0| FED. /0B |A - D CRADLES - 100% SUBMITWAL PM, pD, | B 3 Cil
a | Dec. 3/07 |A - D CRADIES - 70% SUBMITTAL VA, com | o | e Mﬂ aomm e 13.2/138 i Kiohn ppen BQFQEF TR
‘ ~ 2 DWE. Ha.
", Fo BIVE / ROV ot | oeco | omon | aro | FEQISTERED ENGIHEER — CML  [coitwat . 04—0120F4 PO1506A03 !703_10 ,E.

CARCOL PRWTS BEIARIS PRIVOUS

RCRO-M



OBG Segment Status

« 28 Lifts (14 each direction)

« 86 Segments (43 each direction)
« 19 Crossbeams (total)

Lif1  Lift2  Lift3  Lift4 Lift 5 Lift 6 Lift 7 Lift 8
ey by R my s LT

1) I

) ST I
s g b

S LI

= . wai- .
AR R L e B e LW WM W B WL AR ) wm . ua
= oo ) e [ e 'I:Im'f'm"' wan o [Lowe :r wmg :I 1571 “q"ﬂ:

‘ a4 ]

Updated on Oct 09, 2009

Segment & Crossheam , ;
Fabricate Subassembly Blast & Paint

Segment
& Crossheam Assembly

. Trial Assembly

| Sobosoment B Dot

Load on the ship

Lift 12 Lift 13  Lift 14

patial RRM| e BGHO

o H.;Ii'li.

e _fr;ur's:

e W Bl bt e e
],_ Isil __‘%'#I_I: (e - v _l_-wr,

m "'ﬂ M TS A |3 Y 1 A s T I am
‘ .

I Fere
W B Bl|c|pD|E|A|B|c|a|B|c|DI|E| A |B C}Tﬂ A W
B NN N e g T iy
; cB1 CB15  CB16 c1|31 ~ GBI OB19 ., e
.,_. T I L ‘I ’
E Blc|p|E|a|le|c|a|B|c|D|E|l a|B|cliailB] dlaid g
- L
Lit1  Lft2  Lift3  Lift4 Lift 5 | Lift 6 Lift 7 Lift 8 Lift 9 Lift 10 Lift 11 Lift 12 Lift 13 Lift 14
“ - 3 vy g e N - e SN N —~ N ;

Voyage 5 Voyage 6 Voyage 7



